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Rural Economic Activities in India

Time : 2 Hours Max. Marks : 60

Instructions : 1) Section — A answer any five questions within 2 to 3 sentences
each.
2) Section — B answer any four of the following questions in 10 to 12
sentences each.
3) Section — C answer any three of the following questions in 20 to 25
sentences each.

SECTION - A (5%2=10)
SN — R

1. Mention any two economic uses of forest resources.
©0e3, AOTIQONET C3IFYTIOWIR ITED BHFT wwoﬁmem@;&g{ PR,

2. What do you mean by Apiculture ?
&, 2BOT QOTITEID ?

3. What are the types of poultry farming ?
BREY TOTILIFTOL WFNSD OTNR)ED) ?

4. What do you mean by village cottage industries ?
119,800€£9 TOE M0N0 0TTERd ?

5. Who are Rural Artisans ?
M9, Q0¢E9 FTTTOTOF NSO 035930 ?

6. What is self employment ?
R, QTR et DOTITERD ?

7. What are small scale industries ?
ReQ, T,[REATI G MOOBTIED 20T ?
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SECTION -B
NN — W

Explain the concept of organic farming.
AT B, 03 TOFOTODTY IO

Explain the importance of fisheries in Rural India.
119,800€£9 {IPTTTE, 0ETOMDOFOI TSI, OR0.

Explain the importance of small scale industries.
A3, T,3I969T3 §MOOENY BT, WTORO.

Write a note on traditional occupations.
AD0T, TIDO00T LVTIR, ENNE 3OO LTS LITAD.

Write about land reforms in India.
GIRTBTAT 4o TR0 3,:0NT 30020 wwwsé WTCA0.

Write a note on Rural banking.
119,800¢£9 LI 080T BOOZI LT LITCWO.

Explain the benefits of Green Revolution.
AT 52,0800 YUTOARENNTIY, B[ORD.

SECTION -C
SN — 2

Explain the importance of agriculture.
T, 8030 TR, WTORD.

Discuss the role of natural resources in India.
{ITITY, %xﬁrs xowm@ ONY mm;ws% 3SR,

Explain the importance of entrepreneurship development.
emcsﬁwaée@éoi) @@%Q}Oﬁ& magﬁw@i QDWORO.

Explain the problems of small scale industries.
ReQ T,3I9E9T 3,M03NY xmﬁgﬁ@gﬁ% NWORD.

Explain the concept of co-operative marketing.
FBT0 wadaﬁz% o0 wafgﬁojamq QDTORO.

(4x5=20)

(3)(1 0=30)



